Given below are two statements :
Statement 1 : '
The Ulema were Muslim the ologians who provided and interpreted passages from Quran. The Sultan was
required to show respect, at least ostensibly, for Islamic institutions and pre-minently to the ulemas. This
involved the granting of endorsement 1o religious causes and offices to the ulemas, building of mosque etc.
Statement 11 : '
The Ulema were concerned only about the religious aspect and had no voice in political matters.
In the light of the above statements, choose the correct answer from the options given below:
(A)  Both statements I and 11 are true.
(B) Both statements 1 and 1] are false.
~4&3— Statement 1 is true but Statement || is false.
(D)  Statement I is false but Statement | is true.
(E) Question not attempted
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2 Given below are two statements: ¢

Statement I :

Rowlatt Act came into being during thé Non-Gooperation movement. This was designed to take action
against the Indians participating in the movements. » '
Statement I1 : .

The Rowlatt billallowed the judges to try political cases without juries and gave to provincial governments,
in addition'to centre, the power of interment without trial. It was popularly described as "Na appeal, Na
dalil, Na Vakil." " ‘

In the light of the above statements, choose the correct answer from the options given below:

(A) Both statements I and II are correct.

(B) Both statements I and II are false.

(C) Statement I is correct but Statement I is false.

. Statement | is false but Statement Il is true.

(E) Question not attempted
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3 Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R:

Assertion A : The decline of the Maurya Empire started after Ashoka.
Reason R :  Ashoka followed the policy of Dhammavijay and disbanded his army.
In the light of the above statements, choose the most appropriate answer from the options given below :
(A) Both A and R are correct and R is the correct explanation of A.
(B) Both A and R are correct and R is NOT correct explanation of A.

A€T" A is correct but R is not correct.
(D)  Aisnot correct but R is correct.
(E)  Question not attempted
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4-  Which one of the following throws light on the Lakulisha Pashupat Sect?
1. Coin of Huvishka 2. Mathura inscription of Chandragupta II
3. Maltimadhav of Bhavabhuti 4 Ashtadhyayi of Panini
5. Kadambani of Vanbhatta
Choose the correct answer from the options given below :
(A) 1,3, 4 (B) 2,3,4 ©) 1,2,5 T 1,2,4,5

Question not attempted

ﬁﬂﬁfﬁﬁﬁéaﬁwwaﬁwmwwwmﬂm%?

‘1. glash &1 ga 2. sy T @ Ay s

3. - WaYfa & d@aryd 4. uiftrty % sreeEATdl

5. QUTHE @l B :

Ara g o ferepeat & & W& ST & TG B

(A) 1,3,4 (B) 2,3,4 _(0). 1,2,5 (D) 1,2,4,5

(E)- aﬂ'ﬂﬁa qeT

5 Which of the following is/are true about the Virupaksha-Pampadevi of Vijayanagara?
1. Matridevi Pampadevi had done penance to marry Virupaksha.
2 The Vijaynagara rulers claimed to rule on behalf of Pampadevi.
3 The patron deity of the Vijayanagara Kingdom was Vlrupaksha
4 Normally, the name of Srivirupaksha was mentloned in the Kannada script in the royal orders.

S: Virupaksha was a form of Vishnu.
Chgose the correct answer from the options given below :

% 1,2,3 B) 2,3,5 %1,3,4 (D) 2.3,4
(E) Questlon not attempted
Rt % frewa-TmRdy % T § Prafaled § @ @ @A g ¥E 7
1. ogedr vuRel faeue 8 faare & fg qu e 4
2. Fyorae % omEe TEREr @Y ST @ 9TEd HT BT A B |
3, oot g % Eas daarn faeane )
4. Wmmsﬁﬁmﬁﬁﬁsﬁma%ﬁwwm@mw
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6 Match List « T with List = 1L

List- 1 List - TI
A.  Composition of Basant Vilas in Sanskrit I, Raghdnath
B.  Translation of Bhagvaigita into Bangla II.  Udayraj of Gujarat
C.  Composition of Tapathisambaranamu I,  Maladhar Vasu
Upakhyanamu { J]
D.  Creation of Muhurtamala, a treatise IV.  Gangadhar

on Muhurta

W@ - 1H R - 1S g aw st .
w™-1 IR i |

A WEa ¥ FEd e @ e L g

B.  sraqfiar & S ¥ SIAR oL W%ﬁm
C. gulaqTTg SUrEdrTg & Taa I1L. nmr!eﬂ‘arq

D. Wgd g W ggarer s W@ V. rrlmn',

Choose the correct answer from the options given below :

Y Rw 7o fyee & § w8 9% &1 99 Y

A-IL, B-111, C-1V, D-I (B) A-IIL B-I, C-1V, D-lI
(C)  A-IV, B-I, C-I1, D-III (D)  A-IL, B-1V, C-1II, D-I
(E)  Question not aftempted / STTANT T ;\
7 Match List - I with List - II. (
List - I (Characteristic) List —I[ (Foreign Traveler)
A.  Description of Indian Trade and Society L. Manucci
B.  Visited India six times . Bernier
C.  Came to India and never went back * 1. Barbosa
to Europe : 31.“"'
D.  Scientist of Mughal Emir IV. Tavé_r-;;ier
Danishmand Khan 1;-?'\'":
T - 11 g - 1 % a1 e i | {
- 1 (Fadraen) - 11 (e )
A. TR AT TE GHTS b1 Gl L wgEr
B. B 9 | &I aTE Bl I sk
C. I ST & gAY arad e Tar . 9
D. A SR TS W B A5 Iv.  dafifag
Choose the correct answer from the options given below : ,r:
g few o feredt H @ wé I @ GG B N
(A)  A-l, B-II, C-IV, D-11I }( A-IJL;B-1, C-1V, D-I1
(C) A-1V, B-1, C-II, D-111 (D) A—l[;[:,:‘B-IV, C-1, D-I1

(E)  Question not attempted / Glj'ﬁﬁﬁ qed
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8 Subsidiary alliance was a system devised by Lord Wellesley in 1798 All those who entered into such an

alliance with the British had to acdept certain terms and conditions,
I. The British would be respondible for protecting their ally from external and internal threats to their

power. N

»

2. In the territory of the ally;a British armed contingent would be stationed and ally would provide
resources for their nunnlu&nnu

3,

The ally would enter into ugrd.mcnlﬂ with other rulers or engage in warfare only with the permission
of the British. e

4. Ally may walk away with the alliance anytime at the disagreement.
Choose the correct answer from the options given below:
(A) 1lonly (B) land2only

L1 2 and 3 only ‘ &é 2,3 and 4 only
(E)  Question not attempted '™~
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(A) Had | (B) e | a2
(C) ¥Faw 1,233 (D) e 2,3 T4

(E) ofgaid wed (il

9  Match List I with List I. MY

LISTI Ve : LIST IT
A. Setting up Supreme Courb at Calcutta I. 1793
by East India Company g{ 1
B. Cornwalis code enacted¥ I. 1774
C. Railway line between Bombay and Thanexy/ I1I. 1881
D. Madras Harbourhpexams.in IV. 1853
Choose the correct answer from the options given below :
(A) A-l, B-II, C-III, D-IV ¢ T (B) A-IIL, B-II, C-1V, D-1

ey A-llL B-I, C-1V, D-III =
(E) Question not attempted 4

@l%@llaﬁgﬁﬁaaﬁﬁm
T LI B C 1

(D) AL B-1, C-IlI, D-IV

A. s‘eg%mm%mwﬁ . L1793
gared Ay Y WAl

B. wmarey dfear sttt 1. 1774

C. 9% oM & §r @ wp 1. 1881

D. W& BT U IV. 1853
g faw T freedt & e ST BT gEH ST
(A)  A-l, B-l, C-1I, D-IV ) (B)  A-lll, B-II, C-1V, D-I
(C) A-ll, B-I, C-1V, D-III (D) A-IL, B-1, C-llI, D-IV
(E) orafd wed ; :
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10 Statement 1 :
In 1866 Dadabhai Navroji organized the East India Association in London to discuss »
influence British Public opinion. Branches of the Association were organized in major Indian cities.
Statement 11 :
He showed that the poverty and economic backwardsness of India were not inherent in local conditions but
were caused by colonial rule which was draining India of its wealth and capital.
In the light of the above statement, choose the most appropriate answer from the options given below :
S Both Statements I and 11 are True.
(B) Both Statements I and 11 are False.
(C)  Statement 1 is correct but Statement 11 is False,
(D) Statement I is incorrect but Statement 11 is True.
(E)  Question not attempted
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11  Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A :
In a message to the Indian Labour Journal in November 1933, Jawahar Lal Nehru emphasized that both
social and national struggles were basic and that in neither should a compromise be made.

Reason R : .
He urged the working class to play its role in the anti-imperialist struggle.
In the light of the above statements, choose the most appropriéte answer from the options given beloy : -
(A) Both A and R are correct and R is the correct explanation of A.
«B7 Both A and R are correct but R is NOT the correct explanation of A.
(C) A iscorrect but R is not correct.
(D) - A is not correct but R is correct.
(E) Question not attempted
A3 & g few T ¥ : R A %U X R SR E
FHTA: : '
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12 Which of the following is not an example of Rocks with Phaneritic texture?
(A)  Granite - (B)  Djorite
(C) Ryolite (I Gabbro
(E)  Question not attempted

PrfRaa ¥ @ @Y @1 e BAIRRH aAae b1 SarEor @ ¥ 7
(A) IIEE (B) fearge
©) faemse (D) e
(E) orgafd usd

13 Consider the following statements :
1. Tiber river delta is not an example of cuspate delta.
2. Tiber river enters into Tyrrhenian sea.
3. The Tiber river flows through the city of Rome.
Choose the correct answer from the options given below :

(A) 1and3only (B) 1only

and 3 only (D) 1and2only
(E) Question not attempted
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14  Consider the following statements :
1. The Achaean rock system is the oldest rock system of India.
2. The most common Achaean rock is gneiss.
3. The Dharwar system belongs to the later part of Achaean system.
Chosse the correct answer from the options given below :

(A) 1and2only (B) 1.and 3 only
(C) All of the above 1 only

(E)  Question not attempted
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1. onféa O JoTel WIed H qEE g S Jome ¥ |
2. g9y W Mg ra W 1
3. yrETs S goTe snfa S worredt @ are AT fewn @)

i oy i Pt A @l TR g -
(A) *ad 1 3T 2 (B) e 1 3T 3
(C) Ut qHI (D) %aa |

(E) orgaied wed

1421 B 7 P.T.0



15 At is the correet sequence of the given geographic feature from South to North?
South-Sandwich Trench - Puerto Rico Trench - Japan Trench - Kuril Trench
) South-Sandwich Trench - Japan Trench - Puerto Rico Trench - Kuril Trench )
(C)  Puerto Rico Trench - South Sandwich Trench - Kuril Trench - Japan Trench o
(D) South Sandwich Trench - Pucrto Rico Trench - Kuril Trench - Japan Trench
(E)  Question not attempted

o e iR ot g afi A were 2 ikt w aE 7
(A)  weu dsfera ¥ - et Rt ¥ o Yo - g
(B)  Srey Hsfya 3a - s ¥ - vt fa ¥ - agfe ¥ (J7
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(E) gaia e

16 Given below are two statements:
Statement I :

The Arthrashastra is a treatise on government and economics ascribed to Kautilya, the chief advisor of
Chandragupta Maurya. ‘

Statement I1 :

By the third century B.C. the economy of North India was predominantly agrarian. Land revenue“ﬁad
become the accepted source of income for the government. Kautilya refers at length to methods of E\ax
collection and related problems. Modifications in land tax appeared to be the direct concern of the king.)

In the light of the above statements choose the correct answer from the options given below: (N
Both statements I and II are true. L)
(B) Both statements I and II are false. |
(C) Statement I is correct but Statement Il is false.
(D) Statement I is false but Statement II is correct. .

O
’

3 S

AL

frd

(E)  Question not attempted
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17 Arrange the following Coalfields of India from South to North direction
1. Singareni coalfield 2. Ihilimily mnif'icl«l
3. Giridih coalfield 4. Neyveli coalfield
Choose the correct answer from the options given below: '
) 1,4,2.3 B) 4,2,1,3
%’4 1,2,3 @ 21,34
(E)  Question not attempted
wea B Prafefes sedicsa & aftor & Sat R & o amfiog 7
1. T wiaen &= 2. PRl wymer aer
3. i saar & 4. VA wrgen a
Y Ry e R ¥ @ @@ sox gha
A) 1,423 B) 4.2,1,3
© 4.1,2.3 D) 2,1,3,4
(E) Gﬁﬁﬁ'ﬂ wsd
18  Match List I with List IL.
LIST I LIST 11
(Thermal Power plants in India) (States)
A. NTPC Ramagundam Super I.  Maharashtra
Thermal Power Plant &11
B. Mundra Thermal Power Station II.  West Bengal
C. Mejia Thermal Power Station [I1. Telangana
D. Trombay Thermal Power Plant{ IV.  Gujarat
(A) AL B-1V, C-1, D- [11 (B) A-III, B-1V, C-II, D-I
(©) A-1V, B-l, C-I, D-I1I (D) A-l, B-IIIL, C-IV, D-II
(E) . Question not attempted
ekl q;fh 11§ fyem aiee |
@I
(%ma F 4 Al Wich) (T=3)
A. TEEGEN THTSH X RICESN [ I HERSg
B gHe gl ®IH II.  ofyes g
C. Hfvmar gw T ReA m ERIEI
- D. I gEd 9 Wi
(A) AL, B-1V, C-1, D-III @—Alu B-1V, C-II, D-I
(C) A-I1V, B, C-1I, D-1II (D) A-l, B-llI, C-1V, D-II
(E) orgaied 9ed
19  Match the following : A
1. Pacific & Philippine Plate a, Tonga Trench
2, American & Pacific Plate b.  Mariana Trench
3. Indo-Australian & Pacific Plate ¢.  Aleutian Trench
4, Pacific Plate & Okhotsk Plate d. Kuril-Kamachatka Trench
) l-a, 2-b, 3-c, 4-d (®) 1-b, 2-¢, 3-d, 4-a
% 1-b, 2-c, 3-a, 4-d (D) 1-¢, 2-d, 3-a, 4-b
Question not attempted
Prftrfiere @ gafer ¢ :
1. el it feftrarg <re a. T T
2, o oft Afaftees @ b. #fwmr I
3. gRI-aefnas ot Yfuftee wie c T T
4. Yfafee ofv siraews @2 d. —eHHTETERT o
(A) 1-a, 2-b, 3-c, 4-d (B) 1-b, 2-c, 3-d, 4-a
(C) 1-b, 2-c, 3-a, 4-d (D) 1l-c, 2-d, 3-a, 4-b
(E) oTarea ued
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20 Given below are two statements
Statement I  : Kanishka built a Stupa and Vihar

0
Statement I : In the excavations of Stupas and viharas .
found and not of Indra and Brahma. _ grom the options given below :

we

In the light of the above statements, choose the correct ans
Both Statements I and II are true.
(B) Both Statements I and II are false.
(C) Statement I is true but Statement Il is false.
(D) Statement 1 is false but Statement Il is true.
(E) Question not attempted
TR A s RTE:
FEI : Eﬁﬁﬁ%ﬁ&ﬂﬁ'{ﬁ@@aﬂ?ﬁﬂ'{mml + et ¥ 1 5 47 o s
FEI &am%@mmnﬁwﬁaammﬁﬁm |
e e % el & A g g Rl e AT T B
(A) T HuTITE I & T
(B) =i ®gw ITE I &9 ¢
(C) a7 19d & Afee B 11 376 |
(D) o I G & e Hu= 11T

(E) &g 997 -

21  Given below are two statements :
Statement I . Kanchi was the famous city of South India, center of

. Kanchi's famous scholars - Mayuravarma, Vatsyayan, Dingnag and HienTsang-were there.

a at peshawar:

sshawar idols of Buddha and Kanishk; are

education and capital of Pallavas.

Statement I1
In the light of the above statements, choose the correct answer from the options given below :

Both Statements I and II are true.
(B) Both Statements I and II are false.
(C) Statement I is true but Statement Il is false.
(D) Statement I is false but Statement II is true.
(E) Question not attempted
i HU frgmg ¥ :
FqA I: ie afor W o1 wies T, e @ @ o qewret o o A
FAI : % % wRiE RaET - wgea, e, R ge @i &)
i w3 o & A R T R § Wl owe w1 g B
(A) 2 @ue 1T 11 9 ¢ |
(B) 2 & 1Qd 11 o16 ¥ |
(C) wua 19 & Afe wu 11 o7acd )
(D) %49 I 3TE ¥ Afpd wu 119 ¥

(E) oIt 9ev
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22 Given below are two statements: onc is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : .
The 'Doctrine of Lapse' formulated by Governor-General Dalhousie disregarded the right of an adopted helr
to the throne and the state automatically lapsed into British dominion if the ruler died without any biological
natural heir.

Reason R :
The Doctrine of Lapse was one part of Dalhousic's programme of bringing a unified India under strict
control by doing away with alternative sovereignties held by Indian rulers and princes.
In the light of the above statements, choose the most appropriate answer from the options given below:
(A) Both A and R are correct and R is the correct explanation of A.
(B) Both A and R are correct and R is NOT correct explanation of A.
(C) A iscorrect but R is not correct.
= A is not correct but R is correct.
(E) Question not attempted

T & Buw R ¥ wem arfimaT A S &9 H X o ST R & &9 H ¥

AFHUT A

T —STF{ SHETS - U0 &% THSid’ B el &b SAUTIBI o STRIBI DI STase=T &I Tiodied fepar | frfesr
ST T 379 37T U= I A QITeeh Bl HIg TILET e STl o 91 Jeg el & |

RO R : :

HIA ST T TGHRY EIRT Aehiedeh STHeh! 1 Tl i (g Bd §U, T a7 & SA=riq Ia= 1 g
THIPHA HIA Dl A BT STLISI TSI BT Teh AT 4T

UG BT B b1 W, Ay & fyepedt § T8 I B GAE DINQ |

(A) ATIRIE .8 Td R, A &I I AT & | ,»

(B) ATHRIM T & UGY R, A &I o1 =T el & |

(C) Ad™?E fog R 2|

(D) AT ¢ g R 2|

(E) orgafed e

23 Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Daswant painter had committed suicide out of madness.

Reason R : - The manuscript of D.as'want's work Khandan-e-Taimuria is preserved in Khuda bakhsh
oriented Public Library, Patna. ‘

In the light of the above statements, choose the most appropriate answer from the options given below :
(A) Both A and R are correct and R is the correct explanation of A.
Both A and R are correct and R is NOT coriect explanation of A.
(C) A s correct but R is not correct.
(D) A isnotcorrect but R is correct.
(E) Question not attempted

A 2 B U T ¥ : T w1 v A ofR @ @ wRw R F ¥ fafea fewn mn

AR A :  THIT FISBIT T SIehT STTeeT Y o1 oml :

FER - ; ;ﬂﬁaaﬁﬁw—q—%ﬁmaﬁv@%ﬁgﬂﬁwaﬁﬁ@@v&ﬁmmﬁﬁmﬁm
| |

SRS Bl b T & e Ry Ty fermedt ¥ Wl SugER IO & 9ad ¢ |

(A) AT REA T ¢ 3T R, A &) §& =m0 ¥

(B) AR REA T § 3R R, A & 921 = 8 )

(C) AT AlBT R ™ ) '

(D) A € ¥ AP R B

(B) ergar ued
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24 Gcl_‘man Economist Johann Heinrich von Thunen created one of the first geographical models related to
agricultural land use.

Which of the following statements are FALSE with reference to assumptions of Von Thunen’s Location
Theory? S

l- The isolated state comprises of one market area and an agricultural hinterland.

2. The hinterland ships its surpluses to no other market except the city.
There are multiple modes of transport.

4 "}‘:WI‘C.IS a hmnqgc_‘ncnus physical environment, including a uniform plain around the city.

\‘f.?". 1¢ hinterland is ||1J\z\l»|l0(| by farmers who cannot adjust automatically to the market’s demands.
hoose the correct answer from the options given below:

(A) l 3 :l;d 5 only (B) 3 and 5 only

(C) 2 and 4 only (D) 2, 3 and 5 only
. (E) Question not attempted

S St e 3@ I g 3 iy wfy e & e qeer S wree § & U w1 Pt e
ol :

I YA % W R @ araanedt % went A Prefvad ¥ @ 259 @ B9 oEd £

| 9% T ¥ UH I 8 3 iy vl g onh ¥

2. SIS SETHT TET B Bt Rea o arat & arfysiy e Ao 21

3. UEEA & UHiys aee ¥

4. T FEdE Wi AR e ¥, Rred st % AT o when dar i ot |

5. S Wl H VY R6EM & & o St @ Wi % |y o1us oMY drerd Tél frer I |
A g T Pt § @ @ T R
(A) Haw 1,335 (B) aw 3 3T 5
(C) aw 2 a4 - (D) %dw 2,3 3T S

(E) rafa wed

25  Match List I with List II and select the correct option from the given codes.

LISTI: ' LIST II
A. Five Indian Institutes of Technology I.  Fifth Five Year Plan
(II'Ts) were started as major technical
institutions
B. KVIC (Khadi Village Industries II.  Third Five Year Plan
Commission) was set up
C. Gadgil Yojna : III. Second Five Year plan
D. The Minimum Needs Programme
(MNP) was launched IV. -First Five-Year Plan
(A) A-I, B-lII, C-II, D-1V -8By A-1V, B-llII, C-II, D-I
(C) A-I, B-II, C-I, D-IV (D) A-11, B-1V, C-1, D-11I

(E) Question not attempted _
! 1 %1 gt [1 & e g od g 10 e § 98 [9aed &1 9a+ &1 |
I v

L&l R T
A. Ufg 9T drefient g (1Ts) 9@ L S e Fe

! G % w9 A @ by 7Y
B. KVIC (@ faem s=&is wH9m) @t 1L At daae g
TITIAT T g
C. i drs I g8l deedt e
D. 7 fufmm Hisd v (MNP) @l '
T D g IV. & daaig g
(A) A-l, BIL, C-II, D-IV (B)  A-1V, B-III, C-II, D-]
(C)  A-III, B-II, C-I, D-IV (D) A- 11, B-IV, C-I, D-III

(E) =it ged

1421 B 12 P.T.O.
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Given below are two statements :
Statement 1 : Aurangzeb had constructed the Kuwait-ul-Islam mosgue by demolishing the Chintamani
Temple.

Statement I @ Qutbuddin Aibak got the Kuwait-ul-Islam mosque built in Delhi.
In the light of the above statements, choose the correct answer from the options given below :

Both Statements 1 and 11 are true.
(B) Both Statements I and II are false.

tatement 1 is true but Statement Il is false.

(D) Statement Lis false but Statement Il is true.
(E)  Question not attempted

IR Fu Rg TR

FEI ;OO A fAERn GRT B e FAa-Iq-genm aftsre @ fmior et A
FAI : PIIEH 0 1 faeell ¥ pada—sw-gwm wieig &1 Fmfor seamn a1

STEE BUAT & e § A fiw T faeedt # @ IO @1 g S

(A) I BT IT I A 2|

(B) i @weue 1Ug I 319 21

(C) Ho 19 & At B 11 316 & |

(D) %97 1 379 & Wit BuA [ TA B |

(E) organd usd

Given below are two statements : :

StatementI  : The temples of Virupaksha and Pampadevi were built by choosing a beautiful place like
Vijaynagara.

Statement I : The Vijayanagara rulers adopted the earlier traditions, innovated them and developed
them further.

In the light of the above statements, choose the correct answer from the options given below :
Both Statements I and II are true. ‘

/(B) Both Statements I and II are false.

(C) Statement I is true but Statement I is false.

(D) Statement I is false but Statement II is true.

(E) Question not attempted

9 <1 wya few T

FA1 ;o S GEgId W @ g e T TuRdl @ SR S W )

FA Il : Yo % Q] 3 QeI TIUTIaH I STOHTAT, ITH Al |15 S S S faenhd fenar |
Iqa HYA % HeD A A Y U fqeedt § G ST B 99T DT ¢

(A) e wua I1Td Il 97§ |

(B) & wee 1Td 1l 319 # |

(C) U7 19 & e HU 11 376 & |

(D) %Y 1 38 & Wfeh a1 9 |

(E) &rgaftd ued

1421 B 13 P.T.O.
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ilziz‘l.welox are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
ssertion A :

The Europeans denounced the Indian civilization and culture. They described it as backward, uncivilized
and orthodox.
Reason R :
In the early 19'™ century these was been § i i i ' '
: \ s been interest in studying the classical language and literature of India. A
llmnI\bcr‘ of scl}olars took to Indology and one of them \zangaxmuller. s
1;; e light of the above statements choose the correct answer from the options given below:
(4 Both A and R are correct and R is the correct explanation of A.
%= Both A and R are correct and R is not the correct explanation of A,
& A Is correct but R is not correct,
(D)  Aisnot correct but R is correct.
&)  Question not attempted ,
R D R ¥ v ot A % w9 ¥ oix o HroT R % w9 A )
AUFUTA ,
W%WWWMWWM|W§QW, Ty ot wfeard) % w9 H afefa e
193 ST & WRW & ST Y S o Ud a7 e F0t ¥ Wi T §U & 1 %E e A St
@1 foran ofir o ©& deer am)
Wm%mﬁ,_%ﬁﬁﬁaﬁﬁﬁaﬁwwwm :
(A) ATIRIA 7 € TR, A 3 98 =re
(B) ATS R T & UG R, A &) T2 e 79 ¥
(C) A3t fegRTEa )
(D) ATwq ¢ fog RE 31

(E) orgaia ged

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : ' .

Indian National Congress was started by A.O Hume under the official direction, guidance and advice of
Lord Dufferin, the viceroy. :

ReasonR:
The Indian National Congress was to provide a mild, safe, peaceful and constitutiorial outlet or safety value

for rising discontent among the masses. _
In the light of the above statements, choose the correct answer from the options given below:

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true but R is NOT the correct explanation of A.
(C) A s correct but R is not correct.

D) A is not correct but R is correct.

(E) Question not attempted »
B FuT RA ¥ wuw afHuT A S €9 H 3T o ST R &% ¥4 A ¥

AYFYTA : .
ammma?ém&waﬁm_@mﬁzshﬂ, qreenrd RS % ST T3, &1 % 1 HRA T B A

T B3 | |
FIR: .
q@mmmﬁ@m%mm,m,m@@mmﬁwwqw
] |

oAl % waer #, i Rl et § @€ IOt @1 g @it
(A) ATH R e ¥ Td R, A @ T e ¥ :
(B) AT R g ¥ atg R, A @ §E @ @ ¥
(C) Awm ¥ Regg R ¥
(D) AW%WR@%I

(E) orgaid 999

1421_B 14 P.T.0.
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Statement 1 : . |
The walls of the Buddhist care Shrines were coverage with murals illustrating Buddhist narratives.
Statement 11 :
A more distant region where t
Baniyan in Afghanistan, and Tr
into the hills and covered with murals.
In the light of the above statements, choose the correct answer from the options given below:
( Both statements | and Il are true.

Both statements I and Il are false. ‘

Statement 1 is correct but Statement 11 is false.

© _ oLt 180a
) Statement I is false but Statement I1 is correct.

§’ |

/R 1

his tradition of Indian painting was adopted was Central Asia. Commencing at
aversing Central Asia were serious of Buddhist monastries with shrines cut

Question not attempted
e e vy i v e e 2 ffret 3 rer R & v ot B g g P
I : - _
aﬁm{{aﬁaﬁﬁmﬂﬂﬁﬁn%wmﬁmmwmqwq&mmnwnﬁﬁﬁﬁaﬁwmvm
feramesia &1
Fuge wut % werer , N el frepedt F @ W I G ¢
(A) I HETITEOESEl
(B) 2 %y [ Td 11 e 1
(C) e 1 Te ¥ b o 117w B |
(D) e 7o & feeeg e 16ET ©1

(E) STgaid 98

Given below are two statements :

Statement I : )
"Dhamma' is the Prakrit form of the Sanskrit word 'Dharma’, meaning according to the context, the universal

law or righteousness or, by Social Extension and Religious order as found in Hindu society.

Statement II :
The term 'Dhamma'’ was propogated by Ashoka for Buddhism when he adopted the same and started

propogating it. ,
In the light of the above statements, choose the correct answer from the options given below:
(A) Both statements I and II are true.
~ (B) Both statements I and Il are false.
Statement I is correct but Statement II is incorrect.
(D) Statement I is incorrect but Statement II is correct.
(E) Question not attempted

RAFF A T™E:

ELEE

‘em'a'@—dsm‘uﬁ’mmqmw%,mmﬁﬁaéwﬁgq,méaﬁmﬁwmaﬁmwmwﬁﬂ

Rt T ot H g wATST § wrT S ¥ S

A I ¢

;&lwmaﬂ@aﬁ%m‘w’smwmﬁsmwmmwﬁw@rmﬁmﬁmmmm
: .

U HeET % s & A R Rreedt ¥ ¥ € IO B AEA B ¢

(A) 2 B [ TE T FE ¥

(B) & & 1 Td 1 e &1

(C) o 1 g8 ¥ g o 11 7Tt € |

(D) Y | Ta & fbeg o 11 |EN B

(B) oTgaid 9ed

1421 B | 15 P.T.O.



32 Given below are two statements :
Statement | |
Ganesh Shankar Vi i itten i
xonpt Shve InZ] i\;ldy??hl hnld written in ‘Pratap’ that *‘If Maharana Pratap had been in any other country
ot o Lin.c gl(] l‘;v,ml d hnvg been worshipped all over the country. If you were in America like
be worshinped like 'm;:\ O)tox were in England like Wellington or Nelson, if you were in France you would
Statomuat 11 | re or if you were in Italy you would be worshipped like Mazzini.”
Ganesh Sh idyarti use i
ankar Vidyarti used to bring out a magazine named ‘Pratap’ from Rajasthan in 1915.

1 the light of the above staten |

ents, choose the most ropriate answer fi i [ :

%’ Both Statements I and II are correct. “pprop o e optons g e
Both Statements I and 11 are incorrect.

(
g Statement I ?s correct and but Statement 11 is incorréct.
) Staten_lent L is incorrect but Statement I1 is correct.
(E)  Question not attempted

9 A HyA Ru g ¥

Y1

vt sieT Ryl ¥ ware’ ¥ feran e R e warg af e AT @ BrewT o e o 29T ¥ 2
ﬁﬁ%&rﬁmwﬁluﬁwaﬁﬁwﬁ@ﬁaﬁﬁsﬁmﬂjﬁmﬁm,uﬁmmﬁ@%ﬁf
AR a1 euT B AT, AR ST T 2R A i i o o e a1tk T geel A A af AR B e
e g Bl |

FYF 1L : .

1915 & Troygr ey foemelt ot & ‘gare’ A ufiet e 91

SUIEd BT F ST § A R T Rt ¥ wad SugE SO S g9 B

(A) T HFEITEOHEITE (B) 3 @y 1Td I 379 2|

(C) &9 19 & 3T B 11 316 ¥ (D) @ 1o ¥ o B I B

(E) SIgaid 9s7 - -

33  Given below are two statements :

StatementI :
In spite of opposition from Jinnah in 1937-39, the Congress did not stop singing ‘Vande Mataram’ in the

Legislative Councils.

Statement II

Sir Syed Ahmed Khan had said that
India.’
In the light of the above statements, choose the most appropriate answer from the options given below :
¢A&) Both Statements I and II are correct.

Both Statements I and II are incorrect.
C) Statement I is correct but Statement II is incorrect.

g Statement I is incorrect but Statement 11 is correct,
)

‘First he fought for Congress, now he will fight against the unity of

Question not attempted

f wyw g ¥
CLULE
1937-39ﬂﬁw%ﬁﬁutwmﬁﬁmmﬂﬂ‘ﬁm'mmwﬂwl

wyq Il : '
mﬂmmu’fﬁmmﬁv‘@wﬂh%ﬁqﬂﬁ.mmwuﬁwtmﬂﬁr

mwﬂ%mﬂ'%meﬂmﬂﬂmmmmmm:
(A) 2 e 10d I e ¥ (B) T HY 1T I o ¥ |
©) o 19 b e et 11 o ¥ (D) %o 1 e & et F9 115 B

(B)  orgated 997

1421_B

16 P.T.0.
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Match List - T with List < 1T

List - 1 (Articles) List - 1T (Provisions)

a. 243 (K) . State Finance Commission

b, 243 (D I, State Election Commission

e, 243 7(D) I Committee for District Planning

d. 24372(E) IV. Committee For Metropolitan Planning
Choose the correct answer from the options given below :
(A)  a-1 beIl, =1L d-1V (B) a1V, b-111, ¢-11. d-1
(€©) a-lI b-ll, -1, d-1vV - a-ll, bel, 111, d-1v

(E)  Question not attempted

- 1R - 1 fyer @i :

T - 1 (age) TR - 11 ()

a. 243 (&) . T R s

b. 243 (3 . =g g=ma arrdn

c. 24393 (I) 1. e gremn afyfy

d. 2439 () IV. ¥2rifrza enfi % fro gff
Y g T et § ¥ T ST B TAH BT
(A) a-l, b-Il, c-II, d-1V (B)  a-IV, b-III, c-II, d-I
(C) a-IIl, b-II, ¢-I, d-IV (D)  a-Il, b-, c-III, d-TV

(E) Sana usd

Match List - I with List - IT :

List-1 List - IT

a. Sanskritization -+ L RajniKothari

b. Secularization of caste II. Granville Austin

c. Social Revolution III. D. L. Seth

d. Politicization of Caste IV. M.N. Srinivas
Choose the correct answer from the options given bglow :
(A) a-l, b-Il, c-III, d-IV _ -1V, b-111, c-11, d-I
(C) a-Ill, b-I1, -1, d-1IV (D) a-Il, b-1, c-III, d-IV

(E) Question not attempted

T - 1 %1 g - 11§ fre &g

- -1

a. HEpIHIO . [ TSI @Rl

b. e T eHTTAER T 1. AHfae st

c. @IS Hifd . 3. ua. €3

d. ofer @1 T o IV. . wA. fvas
ey fw o Rl A & WE ITL B TG DT
(A) a-l, b-II, c-1II, d-IV (B)  a-1V, b-III, c-I1, d-I
(C) a-lIl b-II, c-I, d-1V (D) a-Il, b-l, c-I1, d-1V

(E) argafed 9ed

1421 B 17 P.T.O.



36  Arrange the fi :
1e follow smente | A B i il
8 ing elements in the decreasing order of their availability (in terms of percentage by

weight) in the Earth's crust,

1. Silicon s
3. Oxy ., Iron
ool 8 ﬁ‘:%;ﬁﬁ el ) 4, Sodium
L Refray Wmm%mwmmﬁ(mtmm%mﬁ)maﬂwm |
3. st : e
Choose the correct answer fr N
SW om the options gi .
N ﬁQ o Prwet & 5l . ;: ons given below:
(A) 2>1>3>4 ™
(€) 1>4>3>2 W(D)'iz:zgzg

(E)  Question not attempted /Mjﬂﬁﬂ 9

37  Match List I with List 11.

LIST
(Landlfm-m s) LISTII
A. Cirqueqy (Occurrence) . .
. The landforms found associated with
floodplains, along the banks of large
: rivers
B. Lapies [I. The most common of landforms in
C. Natural levees ' glaciated mounta?ns .
' MII. ‘The landforms with a relatively flat

rock surface formed by the joining of
several pediments, generally found in

arid and semi-arid areas
The landforms formed when most of
the limestone is taken away by the

pits and trenches
(B) = A-1V, B-I, C-III, D-1I
(D) A-TIL. B-1V, C-II, D-1

D. Pediplain v

<7 A-1L B-IV, C-I, D-III
(C) A-L B-1V, C-II, D-III
(E) Question not attempted

g 1 &1 gat 11 § Frer aifa |
Tl el
(ST fean) (afe g
A & [ w2 R % e, 916 & de | e
g -ongpht
B, ®dE I feresia Tl @t a9 wHT
¥ -Spferat
C. ¥gta wdr [ T UEGd QU T Bl §aE & G
Y-Sl T SR TT L ST
ared-grep & § UIT T A % AfHEE
% e A ‘
D. e < IV. & Y—3ATPITal qF Tl & T Sreehisl
T T TS SR G g g A
(A) A-Il, B-1V, C-L, D-III (B) AW%
(C) A, BV, C-IL, DIl (D) AL glrvccuil B
(E) orgafid ued ’
18 ' P.T.0.
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Given below are two statements:
Statement 1:
In 1960s, the Government of India under the then Food and Agriculture Minister € hidambaram Subramaniarm.
launched the Green Revolution with the help of a geneticist, M.S. Swaminathan.
Statement 11:
During Green revolution high-yielding varieties (HY Vs) of dwarf rice seeds namely Lerma Rojo-64-A and
Sonara 64 was introduced in India, which were imported from Japan. |
In the light of the above statements, choose the most appropriate answer from the options given below:
}A ) Both Statements I and Il are correct '
(B) Both Statements I and II are incorrect
Statement 1 is correct but Statement Il is incorrect
Statement 1 is incorrect but Statement [T is correct
Question not attempted
4 3 ®uA Ry o ¥
FyE L
1060 ¥ 29T ¥ WK GUHT F A @ 3R Y w5 fdaen gevaw # ande ardfi@ifag TR,
i A geET & w0 i B ST B =
EXERIE
=R iRty % A gard SoT-a B T -ARET TTFET (HY V) a7afe] Lerma Rojo-64-A ST Sonara 64 %1
e & gp@ R man, R ST & e o T e
SET FUAl @ e ¥ TEa 5 A R T Rt ¥ @ ged Iugd 6t & wad S
(A) g1 3T 11 3T |l 2 . (B) @ 1 3T 11 241 e
(C) Y 1 ge & A o 11 7o & (D) U1 7T & wfehT e 11921 &

(E) rgafa usd

Given below are two statements:

Statement I: 4
The National Food Security Mission (NFSM) of India was launched in October 2009.

Statement I1:

" The mission was launched with an objective to increase the annual production of rice by 10 million tonnes,

wheat by 8 million tonnes and pulses by 4 million tonnes by the end of the Eleventh Plan (2011-12).
In the light of the above statements, choose the most appropriate answer from the options given below:
(A) Both Statements I and II are correct
(B) Both Statements I and II are incorrect
, Statement I is correct but Statement Il is incorrect
(D) Statement I is incorrect but Statement Il is correct
(E) Question not attempted B

e 3 e fyg o #:

YA I:

AT T TS @ g fiee (NFSM) 7arat 2009 7 g febar T &
&9 11: ‘
e T (2011-12) % 37T 7% arEw & e St § 10 fiferas <7 7@ @Y, T % 8 fufera 7 9@ @
it aret & 4 fferas 2 7@ @ gfig B & IReT A e @t g e T v |

SuEd Ul @1 e & TEd U AR R T fwedl § @ gad SugE IO E 99 Sl

(A) &9 1 3T 11 QY @l & (B) @y | 3l 11 3 e &

(C) & 1 g€ ¥ Afth e 11 e @ (D) &UT 1T ¢ Wihe wU 1 9E R

(E) orgafid wed

1421_B 19 P.T.O.



40  Given below are some of the definitions of Human geography as defined by famous geographers. Identity

the pair(s) which is/are rightly matched.

1. Hlu!\an gcogrgphy is the synthetic study of the relatior
surface — Friedrich Ratzel

2. Human geography is the study of changing relationship between R IR R S S
earth — Ellen Semple

3. Human geography offers a new conception of the inter relationships between earth and human
beings — Ellsworth Huntington

4. Human geography may be defined as the study of the nature and distrib
between geographical environment and human activities and qualities —

Choose the correct answer from the options given below:
(A) 2and4only (B) 3 and4 only

X&) land2only __BF 1and4only
AT Question not attempted

R sprRet & ey afesad o dag g iR & T e g T
nwma@wﬁ%mﬁﬁﬁ%ﬁammu i '
I E i A e $i ged @ a3 dr det o i ead § - it T
2. WE A i A 3T aiRer gedt % drg wae weet w1 oreAad & — TA §
3. e i Get ofit w3 dra fadee B T T GO SRE Bl § — Ceaad e
4. T T @ A waterer o A TRiRE od ot % 9 adr @ vk ot faaer %
g & & H iy Rear o gear ¥ - e faew & @

1ship between human societies and earth’s

ution of the relationships
Paul Vidal de La Blache

T g o fywed A § w8 sww g
(A) %eaw23iT4 (B) a3 X 4
(C) Faw 1aft2 (D) e 1 oiT 4

(E) orgaia e

41  Arrange the following five zones of the p.....ic region of an ocean in the increasing order of its depth from
the surface. - A :
1. Mesopelagic ' 2. Epipelagic
3. Abyssopelagic 4. Bathypelagic
5. Hadopelagic
Choose the correct answer from the options given below:
(A) 5,1,4,3,2 o . BT 2,1,4,3,5
C) 1,2,53,4 i : (Q) 4,1,2,5,3
(E) Question not attempted .

3\e3 P

s AT 5 o 8 35 PrefoRe) v G Y e 9 S T 35 S Wt e v & srRer AT

2, TERAtTE 2. udafies
3,  ufyEnate ' S 4. AR
5. EENOTE ‘

9 fw o Rrereat & & wE gET g

(A) 5,1,4,3,2 , (B) . 2,1,4,3,5

(C) 1,2,5,3,4 (D) . 4,1,2,5,3

(E) orgaftd 98

1421 B o 20 P.T.O.
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arl

Match List | with List 1.

?[}(?(;l;);enic Process) LIST I1 \
' rocess Descriati '
Podzolization L (Description)

It is associated with humid cold mid-latitude
climates and coniferous vegetation

It is associated with soils found in

tropical and subtropical environments

It is associated with warm, semi-arid
environments, usually in grassland vegetation
where evapotranspiration exceeds precipitation
It is associated with poorly drained and water
logged areas of cold climates and pelat is
found in the upper portion of the soi
AL, B-I, CILD-IV (B) AL B-IL C.1V. Dulll

A-l, B-I1, C-111, D-IV (D)  A-1V, B-I11, C-I1, D-I
Question not attempted
<hl

T 11§ e difg
T | T 10

B. Laterization I.

C. Calcification. 14
D. Gleization ' v,

(A)

: (gmﬁm TehH) (Fraom)
A.  UTsSifIeE . T g o meg—arerisr Serarg 3T
sigpemdY St § gafaa 21
B. WAy [I. T swmiesHa afit suwmsieada gataTo
‘ 7 U S AT el ¥ wEld B
C. HfveThehe™ [ T 7T, aTef—gp qareaTe § gaid 2,
. : AR YT U9 & A A TRl -
TS | ST i ear & |
D. TARBAIN IV. I8 33 9@ag & WU 5d Fere ot
A WG I & § Hetd & oY e
28T % Sudl W H 9 S E |
(A) A-I, B-I, C-IIL,D-IV (B) A-L, B-II, C-IV, D-III
(C) A-1,B-II, C-III, D-IV (D)  A-1V, B-III, C-II, D-I

(E) oTaia us

Which of the following statements with reference to natural resources is/are FALSE?
1. Biotic resources are the resources obtained from biosphere and have life such as human beings,
flora and fauna, fisheries, livestock etc.
2. The resources which can be reproduced by physical, chemical or mechanical processes are known
as non- renewable resources.
3. Theresources that occur over a very long geological time and take millions of years in their formation
are called renewable resources.
Choose the correct answer from the options given below:
1 only ( 2 and 3 only (C)C 1 and 3 only (D) 2only
(E) Question not attempte
el & e F Frfaiad wuel § @ @ 91/ oHE Be ¢
1. e gy STadsd ¥ T SETE # SfT 3 Siad siaT & S AT, Sl of S, we,

q9[er ot |
2. %%ﬁ%ﬁ%,wﬁamuﬁmwﬁm&ﬁmgﬁ:wﬁmmm%,h—m
GO % B9 H TW W £ | *
3. gETeE o gga o riTE T F B ¥ ofiR 3 S § et a W@ €, ol ST daen
¥l
Hra fRw 7o fyeed ® ¥ wE IT g _
(A) FHad | (B) haw 2 3T 3 (C) &aw 1 af3 (D) &I 2

(E) ergaia ued

1421_B 21 P.T.O.
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Consider the following statements:

1. A Bill pending in the legislature.of state shall lapse by reason ©
Houses thereof. | ~

: s : . asse
2. ABill pending in the legislative council of a state which has been
shall lapse on a dissolution of the assembly.

f the prorogation of the House

d by the legislative assemb|y

3. A Bill which is pending in the legislative assembly of a state Of which haveabZ?:S([))l'duS:iZ(r‘] 2}; ::C
legislative assembly is pending in the legislative council shall not lapse on . ; e
assembly

Which of the statements above is/are correct?
g 1 and 2 only (RY 2and 3 only
1 and 3 only ST 2 only
Question not attempted
frefoias st o e ¢ |

1. ekt T % Rrer w3 s frdas e e o aeAl 3 GAEEA % BT AT A

2. R T o Rrer oy ¥ wif Ry, Rra Rrer @ 3 aifa fear ¥, Frer @ 3% fore o
YT B ‘

3. o fordvas, S et o @Y Rrerrr v wiferr  a Rrerr e & wifi R & AT ferer ot @
Wi &, fram o & Rees @ s @ @

SR ¥ q B /A YA q@ ¥R ?
(A) %aw 13lR2 (B) aw 2 @iT3
(©) ¥aw 133 (D) e 2
(E) gaia 9 | -
45  Consider the following statements :
1. A parents or guardian to provide opportunities for education to his child or, as the case may be.
ward between the age of six to fourteen years.
2. To provide early childhood care and education for all children until they complete the age of six
ears.
3. %o prtect and improve the natural environment including forests, lakes, rivers and wild life and to
have compassion for living creatures. '
4. To safeguard public property and to abjure violence.
5. To provide primary healthcare to the persons below poverty line.
Which of the statements above is/are related to fundamental duties?
/M 1,2 and 3 only 1,3 and 4 only
: % 1,4 and 5 only @, 1,3 and 5 only
Question not attempted B
Frafaitaa Haer T fam ¢
1. =T ar e BF ¥ Oiee I 9 B g A o, JARRy e a1 whiared % fya fa @
ST FEH BY |
- uﬁhﬁﬂmaﬁw @Taﬁw&wwmmﬁ%&w ¥ %l Y qof F HT A,
faren warm BT % frg W &Y -
3. gl wateer @, fored siata o, e, T ol o=y o ¥, e &t ol e Gash @t @
e wifrat % witn Zar W 1@ ) |
4, gréwtE gaf B goiha @ ot e ¥ @) ,
5. iy Tan & a6 W A & fore yrafre w@me gRemd wem @)
sudaa & ¥ B W/ HUA 0 e § wefer Ry 7
(A) w1233 (B) e 1,334
(C) waw1,48NTS ' (D) %A 1,3 TS
(E) orpefee 5

1421_B | 22
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Which of the following statements regarding Soil is/are FALSE? )
1. Fertile soil supports plant growth by providing pMmTs with nutrients, acting as a water holding body
and serving as the substrate to which plants anchor their roots.
2. Vegetation, tree cover and forest prevents soil degradation and desertification by stabilizing the
soil, maintaining water and nutrient cycling,
3. Grass found on pasture lands cannot protect the soil against soil erosion and also inhibits the soil
biological activities.
Choose the correct answer from the options given below:

1 and 3 only 2 and 3 only (& 2only only
Lﬁ/ Question not atlcnﬁ%)d g’ %
g1 % wey ¥ Frefafad wow § & @ owe 3R 7

1. TUSTS §a1 % ofay @ yrgy 72 el ® e e WA w5l o % Guveh Ud AT b B9 F B H%

are @ gie ¥ werar s ¥
2. WA, 9o, TemTed R @ YaT SIULTLUT Ud HEWeidh v T BT gar % Rerfies o1 % qa-—a1d 7
TS QIweh! & GeHOT Y G0 @ § |
3. ;ﬂmwﬁaﬁaﬁwﬁﬁﬁwmwéwﬁwmﬁﬁ%m%ﬁmnﬁr&ﬁﬁﬁﬁm
| A
i g o fyaedt & @ @& s giTw:
(A) &ad 1 A3 (B) e 23X 3 (C) e 2 (D) %ad 3

(E) rgaia wed

Consider the following statements under Article 18 of the Indian Constitution:
1. Any Citizen of India can take any title from any foreign state.
2. In Balaji Raghavan v/s Indian Federation, 1996, the Supreme Court has announced that 'Padma-
Vibhushan', 'Padma- Bhushan' and 'Padamshree’ is a title but these awards violate "right to equality”.
Which of the following statements given above is/are correct?
(A) 1only (B) 2only (C) Both1and?2 P Neither 1 nor 2
(E)  Question not attempted .
AT Siga™ & owe 18 & ded | Frafarad Hami q¢ e Hifag:
1. oTd &1 B3 W AN feel T & Iu 9T &Y §ahell & |
2. STl AT g9 AR g9ars (1996) ¥ ated ey ¥ 98 g fmar & & agm—far,
YgH-YET’ TE ‘UgH &Y YT € A I8 JIEBIK GHMAT & S BT Seered HAd ¢ |
YT HIA F B AVH BT G /8 ¢ - .
(A) a1 (B) a2 (C) 1323t (D) Farlsi=rd2
(E) g 9ed

With reference to Directive Principles of State Policy consider the following statements :
1. The Directive Principles of State Policy of Indian Constitution have been clearly divided into
three parts, i.e. Socialist, Gandhian and Liberal.
2. Directive principles of State Policy related to co-operative society (under Article 43) of Indian
Constitution is taken from Nehru's objective resolution of 1946.

}:;Bh of the statements given above is/are incorrect?

1 only (B) 2only ™ (C) Bothland2 (D) Neither 1 nor 2
(E) Question not attempted '

T % Aifd e fasial & ded ¥ fr= et ux faamt st —
1. YA |@fu™ & oidiid Tod % it e fasial of ae wel W faved e man ¥, g -
goToTamE), MHETE of IEEn | :
2. WA wigum & 1o % fa-Frdee freia st gewrt wify (s 43 % siaid) ¥ aag ¥ @

e % AR TR 1946 | e man ®
Iqad HUE W B q/A BUe qE B 7
(A) &ad | (B) a2 - © | 31X 2 =t (D) AA 12

(E) orgafta wed

1421 _B 23 P.T.O.
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Given below are two statements he courts.
Statement T ¢ The Fundamental Rights are non- msllcmhlc in the made jus
Statement Il : The Directive Principles of State Policy (DPSP) al'lc options
In the light of the above statements, choose the correct answer from the P
(A) Both Statements 1 and 11 are true.

ABY~ Both Statements L and 11 are false,
(C)  Statement 1 is correct and Statement I is false.
(D)  Statement I'isincorrect and Statement 11 is true.
(E)  Question not attempted

ﬁ%a’taﬂm&qm%

T L it i e & aradi sl ¥

TR 2 T & WY Py Reata sararea) A ardr ¥

TR HURY & ST ¥ W R my Prepedt F & wh s B 99T B "

(A) U9 1aiR 1w &) (B) e 1 aire 1131 e & ¢
(©) HuF 198 ¥ ol w1 e B (D) e 1 7Tera & i e IEe

(B) &gaia wes

Given below are two statements : C .
StatementI  : ‘The doctrine of basic structure’ has been propounded by the Supreme Court in the
Kesavananda Bharati case in 1973. .
StatementII : The Indian Parliament has the power to amend the whole Constltunon. |
In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statements I and II are true.
(B) Both Statements I and I are false.
<7~ Statement I is correct and Statement I is false.
(D) Statement I is incorrect and Statement II is true.
(E) Question not attempted

TRTFERTME :

FR1: 1973 ¥ Fyramg T wr ¥ wates =mared a0 ghE o % Rigid’ @ afi B e
FA Il : WG9 & g QL Sfum § Gales B @y R 8

TUIE FHIAI H S ¥ A U T e § ¥ w8 IO @1 999 B

(A) wgF 1T I3 9 ¥ (B) & I 3T 11 3T 318 ¥ |

(C) =g ITE T 3T Hos I 7Tod § | (D) e 17T ¥ oiR o 16 &

(E) orguied wed

Arrange the following movements chronc.  ally (from earliest to latest)

ticiable in the courts,
given below :

a. Kheda Satyagraha b. Ahmedabad Satyagraha

c. Rowlatt Act Satyagraha -d. Champaran Satyagraha
Choose the correct answer from the options given below:
(A) achbd (B) cdab ydbac (D) dachb

(E)  Question not attempted

Prerfitfiae 2 BTG F9 § wEfed w (AR ¥ )

a Qe GATIE b. IEVRIEIE TS
c. Tee UFe AUE d. SR gOWE
Hra faw Mo fyeeai & & wE I YR
(A) acbd (B) cdab (C) dbac (D) dach

(E) oot wed

1421_B 24 P.T.O.



52  Match List - T with List = 11 :

List - 1 (Schedule) List - 11 (Provision/Subject)
a.  The state :

| First and the union territory

5 Second & b.  Oath

» Thid b | ¢ Allocation of seats in the Rajya Sabha

4. Tourth o d. Administration and Control of
Scheduled Areas and Scheduled Tribes

5 Fifth ¢ Provision as to the emoluments of the

-
I rcs!dcnl, Judges and Comptroller and
Auditor General of India

Choose the correct answer from the options given below

A) 1-a, 2-b, 3-c, 4-d. 5-¢ (B)  1-b,2c, 3-d, d-c, 54
-, 2-¢. 3-b, 4-¢, 5-d “ (D) lic, 2-d, 3-a, 4-b, See
Question not attempted

- 15 T - 1§ B I :
-1 (TEh) T - 11 (2 | )
TuH

1. a. T ST &% anfr waor
2. T b. sy
3. q@a c. TwuqH ¥ ®et o oz
4. =gd d. oo S e oyl d o
T4 T
5. 99 e. TSl el oi frdss ot TemE Thes
% A/ FE yraum
1 fog o Rt @ T g
(A) 1-a,2-b,3-c,4-d, 5-¢ © (B) 1-b,2-c,3-d, 4-¢, 5-a
(C) 1-a,2-¢3-b,4-c,5-d (D) 1, 2-d, 3-a,4-b, 5-¢
(E) Srana wed
53  Match List - I with List - 1 :
List -1 List - IT
a. - SKhilnani [.  The idea of India
b.  Rajni Kothari II.  Democracy and Discontent
c. R. Guha IlI. India After Gandhi
d. Atul Kohli IV. State against Democracy
Choose the correct answer from the options given below :
-1, b-Il, c-1lI, d-1V (B) a-1V, b-lIL, c-II, d-I
(C) a-lll, b-ll, c-I, d-1V (D) a-l, b-IV, c-IlL, d-Il

(E)  Question not attempted
T - 131 @ - 11 ¥ e i
- 1 " - 11

a. T e I amdfean ot 3fean

b. oI HleT! ' 11, Fwhe Us fewede

c. T Tl | 111, 3R s Tived

d. o Bewl IV, ®2 orfe Sl
A fow  faemea) & & W T BT T DI ¢
(A) a-l, bIl, c-llI, d-1V (B) a-IV, b-lll, c-11, d-1
(€) all, b-Il, c-I, d-1V D) al, b1V, Il d-ll

(E) i ued

1421 B 25
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Consider the following statements :

1. mergency on grounds of extern,

According to the Article 356, Government could declare a state of €
threat only.

ro

, i ctically sus
Once a emergency is proclaimed the federal distribution of powers rema:::S pra Y SUspendeg
and all the powers are concentrated in the hands of the union governmerit.

The 42" Amendment was also passed during the emergency. , he legi
4. Amongthe various changes made by 42 Amendment, one was that the duration of the legislature;

in the country was extended from 5 to 7 years.
Which of the statements given above is correct?

¥) land4 only &) 1and 2 only

(C)  2and 3 only 4= 3 only
) Question not attempted

I STBT 356 & TR Saw AedY e 3 HT T TG AT %1 TTET BT Fhell |
SR 1 STETOT 3 e & i 3 et v Geivg ot aEE AT T FEETE #
& S | iR S e % we ¥ T o ¥

. ST & I & RIS &1 4287 weires aift gom anl

4. 429 G % ST 5T o1 gaemal § ww o, 397 2 AT % erE F S ad § gerEt 7 ot

ro

HAT :
SUgE F ¥ BN Y HUT e &
(A) %= 134 (B) ®aw 1 3x2
(C) Haw 233 (D) a3

(E) orgata we

Arrange the following events performed by the Constituent Assembly in the correct sequence (earliest to
latest) ‘

1. Ambedkar’s first speech in the Constituent Assembly.
2. Adopted national flag by Constituent Assembly
3. Approved Commonwealth membership of India
4. Nehru's Objective Resolution
(A) 1,2,3,4 ; B) 1,4,3,2
4,1,2,3 . (D) 3,4,1and2
(E)  Question not attempted
dfaur gu1 210 fhe e wat # @8 w9 A watd sifg (et ¥ dew)
1, dfaum g9 & sreEEt &l 9YW o

2. Efram quT g TgEas &l 9

3. TrgHEd WG %I HEEl B STHIa

4. EE W TL9W T |
(A) 1,2,3,4 (B) 1,4,3,2
C) 4,1,2,3 (D) 3,4, 1 qur2

(E) ergafed usd
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56 Mate

A.

C.
D.

(A)
©)
(B)

h List 1 with List I1.
LIST 1
(Dams)
Nizam Sagar Dam
Somasila Dam
Nathpa Jhakri Dam
Linganamakki Dam
A-111, B-1, C-1V, D-II
A-1V, B-1, C-11, D-111
Question not attempted

T 1 g 11 @ P i)

>

O0Ow

S
©)
(E)

N7 Matc

A.

B.

D.

g1

A.

B.

C.

D,

(A)
)

1421 B

w1

(@)

o | Ty

QIR 9ie

AT ATHE! qIE
A-II1, B-1, C-1V, D-II
A-1V, B-1, C-II, D-II

TN T

h List I with List II.

LIST I '

Geographer who introduced the
concept of 'stop and go determinism'
Geographer who opined that climate
profoundly influences man, his culture
and geological processes

Geographer who wrote the book,
‘The New World: Problems in
Political Geography’

Geographer who opined that, ‘Nature
is not mandatory but permissive’

&1 gl 11 & iy #ifim
Ll
v Rl ‘i e T R
I ST YT Y
TS | g et ¥
spriiereren el @ = o e
yriierar fer T v Q) s, vt
afrerd 7E & afeas o &

A-l1, B-1, C-1V, D-III

A-l, B-1V, C-111, D-11

Question not attempted / Gﬂﬁﬁ'ﬂ qeH

b

I
I
[,
Iv.
(B)

LIST 11
(Rivers)
Pennar river
Sharavathi river
Manjira river
Sutlej river

A-L, B-I1, C-I11, D-1v

(D)  A-II, B-1v. C-I, D-I11

L.
I1.

[11.

IV.
(B)
(D)

I1.

II.

IV.

(D)

g Il
(Afean)
U= 8y
STTTEr =14Y
EEIRE |
T

A-l, B-II, C-I11, D-IV
A-Il, B-1V, C-I, D-III

LIST 11
Ellsworth Huntington

Griffith Taylor

Jean Brunhe

Isaiah Bowman

I
e #fme

. fiftey Tex

1. <9 9
Iv. dar9ms

A8 A-1V, B-l, C-111, D-1I
A-1V, B-1, C-11, D-11I

P‘T.'.Q.



58  Match List = I with List = 11 :

- List- _| (Al’liclns) List - I1 (Provisions)
a. 0l L. Impeachment
b. 72 [1.  Pardoning Powers
c. [11.  Election
d. 123 V. Ordinance
e. 76 V. Appointment of Attorney General
"Choose the correct answer from the oplmns given below :
(A) alb-Vc“dl“clV a-1V, b-1l11, ¢-I1, d-I, e-V
4@ -1, b-ll, c-lIL, d-1V, e-V % a-11, b-111, c-1, d-1V, e-V
(E) Quesnon not attcmptud
-1 §ﬁ
I (3‘3‘@3 T - 11 ()
a. [ werthaEmT
b. <Z [l &IEH BT @I ol
c. 9 [I1.
d. 173 V. %m
e. V. HerarEr & g
¥ Ru mz ﬁam‘t ¥ ¥ T ITR & 99 BT ;
(A) al b-V,cll, d-II eIV (B) a-IV, b-II, c-I1, d-1, e-V
© a-1, b-1I, c-III, d-IV, e-V (D) a-ll, b-I11, c-I, d-TV, e-V
(E) &gaid 9ed X
59  Match List I with List II.
LISTI LIST II
A. Albatros plateau [.  North Atlantic Ocean
B. Telegraph plateau : II. North-West Pacific Ocean
C. Amsterdam-St Paul plateau III. South-East Pacific Ocean
D. Kuril-Kamchatka Trench IV. Indian Ocean
(A) A-2, B-4,C-1,D-3 (B) A-3, B-1,C-4, D-2
(C) A-1,B-2,C-3,D-4 (D) A-4, B-3, C-2, D-1
(E) Question not attem ted
g [ &1 gt 11 & e
S | ™o
A, FERZE UST [ SOl eRdifed HEENY
B. W 9B II. Sad—ufyad gerd FEMnr
¢ C. URZER-HE Ui YeK [11. TFOT-qe geTid HETErTT
D LR T 1v. fég qem@mr
%' A-2, B-4, C-1, D-3 B A-3,B-1,C-4,D-2
A-1, B-2, C-3, D-4 (D) A-4, B-3, C-2, D-1
(E) ergard us

60  Given below is a list of prominent Geographers and the countries to which they belong. Identify the pair(s)

which is/are wrongly matched. .
1. Jean Brunhes - France 2. Muhammad al-Idrisi - England

3. David Harvey - Spain ki 4. Grehard Schott - Germany

Choose the correct answer from the options given below:
(A) 1and4 only (B) 3 and 4 only (C) 1and3 only (D) 2and3 only

(E) Questlon not attempted

ug@\gg:%w afrr o 39t @ g e & & R 3 e ¥ 1o Sl ol vear aifong fes fier e
o ¥

w9

1. . S 3§ - %id 2. HEWY A-SEON - I
3. s Ed - wH 4. TS WhHIC -

) Rw T Rredt ¥ § @€ I Y

(A) a1 it 4 (B) e 3 o 4 (C) e | 3T 3 (D) Faw 2 AT 3

f( e W
' 28 P.T.O.
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With reference s difFerent tv T 4 . '
B l\tt to the different types of soil found in India, identify the pairs which is/are wrongly matched.
- up ) ¢ S QO These o for oY e . N « .
. montane s_ml - These are formed by the deposition of eroded matertal and are found in the Taral
region stretching from Jammu and Kashmir to Assam

4 e /¢ | 1 0 N1r'e al 3 .' 13 . v .
}\\/"lllt\\-\ soil - These are the lacustrine deposits found in the Kashmir valleys and Bhadarwah
alley.

D w oy i et Thewe > ) H ' 1
I e.aly and M.msh)_- soil . T'hese are typical soils of the monsoon climate characterised by seasonal
rainfall and is deficient in organic matter.
4. Laterite soil - These soils are rich in humus and organic matter.
Choose the correct answer from the options given below:
1 and 2 only 2 and 3 only
&) 13 a|)d 4 only (1)) 3 and4 only
(E)  Question not attempted
YRA ¥ U8 W Il faiie g ol 581 & dad N o7 Sifeat @Y geam @it R e wem 59§ fear
TR

L. ﬁw—&aﬁﬂ%w%aﬁ%ammﬁmﬁﬁ TG T et TS A H 9T
|

S

3.

2. ?ﬁ%ﬁ&ﬁ?ﬁﬁwwﬁwaﬁmmﬁM%l
3. HaT - %\ fagroa el % fafyre gamd & o 77 FEt
gETel @l HE Bl § R G
4. WUZE YA - ¥ YA EHE O HEiTeh waret & HIqT e & |
9 faw g fasedt § ® Wl SAT g
(A) Had 1 32 (B) %ad 2 33
(C) aw 1,334 (D) Faw 3 A4

(E) orand usd

Which of the following statements with reference to the main cropping seasons in India is/are FALSE?
1. The terms ‘kharif’ and ‘rabi’ originate from Arabic language where Kharif means autumn and Rabi
means spring.
2. Kharif crops need cold weather for growth and need less water.
3. Rabi crops generally require more water and are called monsoon crops.
4.  Zaid is short cropping season during summer months and mostly seasonal fruits and vegetables are
grown in this season.
Choose the correct answer from the options given below:

1 and 2 only =BT and 4 only
‘%) 3 and 4 only (59 2 and3 only )
(E) Question not attempted

e % wEe % e daw % we ¥ Prefifee weet ¥ § B /A o 4R
Ll ol T g Tl T & we g ¥ et el ot ared ¥ e g 3T i ored ¥ e A
2. @l & wEe & 9o % g o Hrew A ol wH T At ofreEhdl B ¥ -
3 o 2w B ST X ot W @) rrasada e ¥ o § FIR W we o
4 Wnﬁﬁ%nﬁ%%ﬂﬂﬁm@mwm%mwmﬁwmwm

afssar sg e ¥ | :
Y fyw o freredi § @ wE I gMT@:
(A) ad | 8T 2 (B) aw | a4

(C) a3 X 4 | (D) ad 2 31T 3
(B). orgaid ued |

P.T.O.
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63  Match List - I with List - 11 :

List -1 - List - 11
a. Estimate Committee IJ” . 22 Members
b. Public Account Committee II. 30 Members
¢.  Rule Committee of Lok Sabha 1. 31 Members
d. Department-related Parliamentary IV. 15 Members

Standing Committee
Choose the correct answer from the options given below :
& a-ll, b-l, -1V, d-11l @) a1V, b1l c-Il, d-I
a-llL, b-1, ¢-1, d-1V (D) a-ll, bl el d-1V
Question not attempted ’

@ - 15 - N R it :

™-1 -1
a. A | . 22%ed
b. e W wi . 309
c. wr®aw e afiia . 3193
d. T gl dudrg ol wffa V. 159ed
¥ Ry o el ¥ F 78 I A T BT
(A) all b, c-IV,d-lII (B) a1V, b-III, c-1I1, d-T
- (©) allLbllcldlIV | (D) a-IL, b1, c-III, d-IV
(E) SFARawH
64 Match List - I with List - IT :
List - I (Articles) List - II (Provisions)
a. 265 ' . L Taxes not to be imposed save by authority
. of law _
b. 266 . II. Consolidated fund of India
c. 267 T TI. Contingency fund ‘
d 263 IV. Inter-state council
Choose the correct answer from the options given below :
~a-L, b-11, c-111, d-IV (B) - a-IV, b-I11, c-I1, d-I
(C) alL b-IL L, d-IV e (D) ol b-1, c-III, d-IV

(E) Ques;ion not attempted
g - 17 g - & P g - |
R - 11 (Jraer)

g-I(EgE)
a. 265 b I ®F % TR % fT e e e s
b. 266 : ' I «ra & gfaa &R
c. 267 M. 3ehfsenan fir
.4 263 | IV, sie—rg uReg
# frg g Rl ¥ W ST B ATA PG 2 |
(A) a1, bl L d-IV . (B) a-IV, b-lIl, ¢-II, d-I
(©) ' allL bl d IV (D) a-ll, b-I, ¢-IIL, d-IV
(E) - argafea 9e7 |
1421, B 30 P.T.O.
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Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Federalism in India is in recent years moving from cooperative to bargaining federal system.
Reason R :  Residuary powers of legislation are lying with the centre.

In the light of the above statements, choose the most appropriate answer from the options given below -

%Bolh A and R are correct and R is the correct explanation of A.

(B) Both A and R are correct and R is NOT correct explanation of A,

(C) Adiscorrect but R is not correct.

(D) Aisnot correct but R is correct.

(E)  Question not attempted

A A B R0 ¥ s B wfvwyT A F T H 3N qE B FR R F w9 H @
AETA ¢ T F a6 A el oA FEan e & deareh b g @ e wgE 3
FTR  : Taum & safite st &= o ffea 21

YU HUAL & o7wIs § A g 7o faewedt § § watfur sugaa sot &1 999 Fita

(A) A3 R E 3T R, A DI T TR FHTAT § |

(B) A3 R Gel & Wieh R, A &1 TE! AT 78 § |

(C) AWEE fehT REEI TRl &1

(D) A Td & WihT R 98 81

(E) organd ued

Given below are two statements:

Statement I : The Indian National Congress rejected the ‘Cripps Proposal’ because Congress was not

convinced with the dominion status offered by the British.

: The Muslim League accepted the ‘Cripps Proposal’ because the indirectly demand of
Pakistan was accepted by the proposal.

Statement 11 -

In the light of the above statements, choose the correct answer from the options given below :
(A) Both Statements I and II are true.

(B) Both Statements I and II are false.

%Statcment I is correct and Statement I1 is false.”

(D) Statement I is incorrect and Statement I1 is true.
g
(E)  Question not attempted

a1 Hue o o ¥
FA L I TS B ¥ By e’ wy sl a5 R R s s g s s 3
Rafa & wgs @ o .

FAI : qRe W A B g @ @R v fran R s gr o @ s @ e 598
Wit & feran mar am)

ST Yt % e § A R e R F @ W@ S€T @ Tae By

(A)  &YF 137 11 1 9 ¥ (B) &Y+ I 3l 11 A e E
(C) o 198 & oi waw 11 wTere &) (D) U 1 T & 3N w11 §e B
(B) s wew

P.T.O.
31



67  Consider the following pairs:

Committee of the Constituent Assembly Chairperson
1. Language Committee Jawaharlal Nehru
2. Union Power Committee Moturi Satyanarayana
3. Minority Committee H. C. Mookharjee
4. Fundamental Rights Sub-committee J. B. Kriplani
5. Advisory Committee on Fundamental Rights Vallabhbhai Patel
How many pairs given above are correctly matched?
Only 1 pair (B) Only two pairs
(C) Only three pairs (D) All five pairs
(E) Question not attempted '
Fr=fofea gt W fEr @ifg)
Wi w ) ah ' Sk
1. ST Wit TEATETEATH AEE
2. 9 afF wify o =gl e
3. SETEETS SR . | gash
4. e stk Sy—afify &, & @
5. e SRRl @ HATEHIT TRt TS qea
S & & P g @l g 7 |
(A) ¥aw 1 g™ (B) %aw2gH
(C©) Faw3gm (D) w5 g™
(E) Srgafa 9

68  Consider the following statements regarding the Bill of rights :
1. The “Motilal Nehru Committee” presented a bill of rights in 1930.
2. A Bill of rights prohlbxts government from thus acting against the rights of the individual and
ensure a remedy in case there is a violation of these rights.
3. Government cannot put réasonable restrictions on the exercise of our fundamental rights.

Which of the statements given above is/are incorrect ?
Only 1 and 2 ‘ Only 2 and 3
Only1,2and3 ﬁenlyl and 3
). Question not attempted
SR % e @ e Prafiied wat O3 R S ;

1. 1930 % ‘s Jee Wit sftreTdl @t U oS wega e
2. IR BT YOI TR B AT % HTIBRY % oS W B & el & ST ITbT SewaT

¥ W I SuEr ghfed &t §)
3. WWM%WWWW@WM%
guga & ¥ B a1/ HYA Tow 8% 7
(A) %aa 16T 2 (B) aw 2 33
(C) #eam1,2alT3 (D) e 183

(B) raf 9e

1421_B P.T.O.
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70

=#27 (i)-(c), (ii)-(d), (iii)-(a), (iv)-(b)

Consider the following statements regarding the MusQan initiative:

l. To reduce preventable mortality and morbidity of children below |2 years of age. o
2. All pregnant women and sick infants upto | year of age attending public health facilities are
entitled to free services, drugs and consumables as well as diagnostics services.
) To provide child-friendly services to the new born and chﬁdren in a humane & supportive
©environment.
4, It is an intensified

N rogramme to bring undiluted focus on promotion of breast feeding and other
infant & young child feeding practices.

Which of the options given above is/are correct?

1 and 2 onl B) 2and3onl | and 3 onl ' and 4 onl
& Question ngt attem(te)d d - i M g
Wméﬁﬁﬁmﬁﬂ%&ﬁwﬁ(ﬁ:
Lo 1299 § %9 9% % qeal @ gg 3T H V& 3T 7 Boran 2 H9 |
2 Y wmen glieel § w miad wftwe ol o ad @ % A R B froges
TG, TATd qar SqHT g, Yeitee Yan Iuwe woE
3. WA oMt qETTs ATl ¥ AW 419] o a6t A ga dend yam s

4. TH HEHH w1 S5y PRI St & wie S ae & gey A e R 97 S e e dn
WY B T TS|

I faedt § § o a1 e @@ ¥ 7 |
(A) &Haw 18R 2 (B) e 2 3T 3 (C) hae 1 3T 3 (D) %aw 3 3T 4
(E) orgaid us|

Match the following:

(1) Sowa-Rigpa (a) Fusion of traditional knowledge of
ancient civilization like Egypt, Arabia,
India, Iran, China & Syria.

(1) Siddhag (b) Health is a pre-requisite for achieving

: _ the goals of life i.e. Dharma, Artha,
ﬁ- : Kama and Moksha.
(iii) Unani , (c) System is evolved based on 96 tools or

principles(Thathuvas) which include physical,
physiologic, psychological and intellectual
, ‘ aspects of every human being.
(iv) AyurvedB ‘ (d) The basic theory is explained in terms of the
_ body & the mind as the locus of treatment;
anti dote; method of treatment through antidote;

‘ medicines that cure the disease; pharmacology.
Choose the correct option from the following options :

A) (@), (i), (i), (v)(d) (B (DM4b). (ii-(0). ). (iv)-Ga
o 50y (@ (D) (@), (40). e, (W)

E)  Question not attempted

Eqf .
() wrar-fo S (a) T, oXE, WTE, T, 99 ok @i
| WIS §Ge & TTTT §I 1 S
(ii)y fam (b) W % wel H fn o, ord, @ ol e
' m’rmﬁmﬁ%ﬁﬂ% HET T weTd 8
(iii (¢) wr 96 TYHTT T TT STy
) qeeh quwwﬁw‘!hrr&ﬁw,m.
Wi of s Tee wftsfve ¥
(iv) omgde : (d) qrirT o fwm oo & e g & ddiste
Y g ddrefe ¥ Wi we @ e
1 &1 frart e et o ofvwfirat qen
. afrwyr e W ferrer ¥
A ,?;@f(m;r ) ( )ngl) (B)  (i)-(b), (ii)-(e), (iii)-(d), (iv)-(a)
i)-(a), (ii)-(b), (iii)-(c), (iv)- )-(b), (ii)-(e), (iii)-(d), (iv)-
EC% &ig-gc), %iig-gdg, (iii)-ﬁa), (iv)-(b) (D) (i)-(d), (ii)-(c), (iii)-(a), (iv)-(b)
(E) EL|



71 Match List I with List 11 and choose the correct option :
List 1 List 11

a.  Gujri mahal I. Kurukshetra
b.  Seikh Chilli’s tomb 2. Mahendragarh
¢.  Choron ki Baoli 3. Hisar
d. Jal Mahal ' 4. Rohtak
(A)  a-1,b-2,¢-3,d4 (B) a-2,b-3, ¢4, d-1
(C) a-3,b-1,¢c4,d-2 ’ (D) a-4,b-1,¢-2,d-3

(E)  Question not attempted

T 1 g 1 e B aur a8 ey & gaw w

™l , A 11
a. ﬁ\'ﬂ'ﬁ‘%ﬁ 1. 3,—5%;[
b. g faee BT AR 2. TG
c. ORI @ FEA 3. feaw
d. . 91 HEd 4. sdd
(A) a1,b2,¢3,d4 |  (B) a2,b-3,c4,d-1
(C) a-3,b-1,c4,d-2 (D) a-4,b-1,c-2,d-3

éE‘)/GljﬁﬁH EER]

72  Given below are the administrative Divisions of Haryana along with the districts it includes

Administrative division Districts included

a. Hisar . Hisar, Fatehabad, Jind, Bhiwani, Sirsa

b. Rohtak ' Jhajjar, Sonipat, Bhiwani, Charkhi Dadri, Rohtak .

c. Kamal ' Panipat, Karnal, Kurukshetra, Kaithal

d. Ambala . Ambala, Kurukshetra, Panchkula, Yamunanagar
Which of the above Administrative Divisions are correctly matched?
(A) aandbonly : (B) band conly
(C) canddonly éD)— band d only

(E) Question not attempted

wReamT % weTatE @ ofr T e R S R T

ITEE E3 T Riet
a. feam fear, waemam, i, frar, R
b. Tedw oY, Aa, e, ad@l, el teae
c. HEIA o, ST, HA, Huw
d. o STRITCTT, PO&S, TEGHAT, AT
Y B @ Wi el a1 e wd ¥ 7
(A) e a it b (B) aw b &l ¢
(C) %raaceﬁ_w (D) %aw b3 d

(E) oTgaied e

1421 B ' 34 P.T.O.
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Given Pel“"\" are two statements: one is labeled as Assertion A and the other is labeled as Reason R.
Assel:tlop At When an artificial satellite moves around the earth in a circular orbit with a constant speed, its
velocity is not constant because the direction of motion of the satellite is changing continuously.
Reason R: The force of gravity of earth keeps the satellite in circular orbit around it.
In the light of the above statements, choose the correct answer from the options given below:
(A)  Both A and R are true and R is the correct explanation of A
(B) Both A and R are true but R is not the correct explanation of A
(C)_ Alis true but R is false
A is false but R is true
(E) _ Question not attempted
e < Fe Ry e ¥ e @ e A ol gaY wr s R a1 fear

AR Az T8 DI HEA 3urE et & a1 ST g dan & Fraa i & @t e & @ g 3 R
BT 1T I Y iy Y e IR T W@ B |

T R: Jed! &1 T TUE D AU G ST AT pear ¥ Tar &

TSI HU Bt e F T §u N R 10 Ryt ¥ & @8 3wt @1 T A

(A) ARRIE T ¥ R R, A% T8 =me @

(B) A R RINT & ¥ afthe R, A Y a9 =y =8 &

(C) ATTTafsTRImET

(D) A 3T AfeT RET ¥

(B) oTgaia wed

Which of the following statement(s) about the artificial sweetening agents is/are TRUE?
1. Ortho-sulphobenzimide is the first popular artificial sweetening agent.
2. Ortho-sulphobenzimide is also called as saccharin. '
3. Ortho-sulphobenzimide is about 100 times as sweet as cane sugar.

Choose the correct answer from the options given below:

(A) 1only (B) 2and3 only (C) land3only  (Op 1and2only
(E) Question not attempted

HIH YD & G9H A MIATRET § § B 914 BT T 282
1. S-GERINTES T8 TaeTd HIH 7Y
2.  ST-TEHSTTAIES B FBO I BET WA
3. GE-HERISNTIES, T &AM T 100 AT Hret g ¥
e g o foeedt & & wé Iow ghhw
(A) e 1 ~ (B) Ham2ai3 (C) &aw 133 (D) ¥Faw 1afw2
(E) &gara s

Which of the following statements about the types of soaps is/are TRUE?
1. Transparent soaps are made by dissolving the soap in ethanol and then evaporating the excess
solvent.
2. Shaving soaps contain fillers like sodium rosinate, sodium silicate, borax and sodium carbonate.
3. Soap chips are made by running a thin sheet of melted soap onto a cool cylinder and scraping off the
soaps in small broken pieces.
Choose the correct answer from the options given below:

(A) f] and 2 only ( 2 only (C) 1 and3 only B2 and 3 only

( uestion not attempted
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